

NAME: BOSAN RIYASAI JOY

MATRIC NO.: 15/ENG02/012

DEPARTMENT: COMPUTER ENGINEERING

Name: Bosan Riyasai Joy
Matric no: 15/ENG02/012
Department: Computer Engineering

i) $\frac{dy}{dt} + 3y = e^{-2t}$ given that at $t=0$, $y=2$

$$sy(s) - y(0) + 3y(s) = \frac{1}{s+2}$$

at $t=0$ $y(0) = 2$

$$sy(s) - 2 + 3y(s) = \frac{1}{s+2}$$

$$y(s)(s+3) - 2 = \frac{1}{s+2}$$

$$y(s)(s+3) = \frac{1}{s+2} + 2$$

$$y(s)(s+3) = \frac{1 + 2(s+2)}{s+2}$$

$$y(s) = \frac{1 + 2s + 4}{(s+2)(s+3)}$$

$$y(s) = \frac{2s+5}{(s+2)(s+3)}$$

$$y(t) = L^{-1} \left[\frac{2s+5}{(s+2)(s+3)} \right]$$

$$y(t) = L^{-1} \left[\frac{A}{s+2} + \frac{B}{s+3} \right]$$

$$2s+5 = A(s+3) + B(s+2)$$

at $s = -3$

$$2(-3)+5 = -B$$

$$-1 = -B$$

$$\therefore B = 1$$

at $s = -2$

$$2(-2)+5 = A$$

$$1 = A$$

$$\therefore A = 1$$

$$1. y(t) = L^{-1} \left[\frac{1}{s+2} + \frac{1}{s+3} \right]$$

$$= L^{-1} \left[\frac{1}{s+2} + \frac{1}{s+3} \right]$$

$$1. y(t) = e^{-2t} + e^{-3t}$$

2) $3 \frac{dy}{dt} - 6y = \sin 2t$ given that at $t=0, y=1$

$$3[sy(s) - y(0)] - 6y(s) = \frac{2}{s^2 + 4}$$

at $t=0, y(0)=1$
 $3[sy(s) - 1] - 6y(s) = \frac{2}{s^2 + 4}$

$$y(s)[3s - 6] - 3 = \frac{2}{s^2 + 4}$$

$$(3s-6)y(s) = \frac{2}{s^2 + 4} + 3$$

$$y(s)(3s-6) = \frac{2+3(s^2+4)}{s^2+4}$$

$$y(s) = \frac{2+3s^2+12}{(3s-6)(s^2+4)}$$

$$y(t) = L^{-1} \left[\frac{A}{(3s-6)} + \frac{Bs+C}{(s^2+4)} \right]$$

$$2+3s^2+12 = A(s^2+4) + Bs+C(3s-6)$$

$$2+3s^2+12 = A(s^2+4) + Bs+C(3s-6)$$

$$2+3(2)^2+12 = A(2^2+4) + 0$$

$$2+12+12 = 8A$$

$$26 = 8A$$

$$A = \frac{13}{4}$$

$$2+3s^2+12 = As^2+4A+Bs^2-6Bs+3Cs-6C$$

$$A+3B = +3$$

$$\frac{13}{4} + 3B = +3$$

$$3B = +3 - \frac{13}{4}$$

$$3B = \frac{12 - 13}{4}$$

$$\frac{3B}{3} = \frac{-1}{4} \times \frac{1}{3}$$

$$B = \frac{-1}{12}$$

$$!- 4A - 6C = -14$$

$$4\left(\frac{13}{4}\right) - 6C = -14$$

$$13 - 6C = -14$$

$$-6C = -13 - 14$$

$$-6C = -1$$

$$C = \frac{-1}{6}$$

$$!- y(t) = L^{-1} \left[\frac{13/4}{(s-2)} + \frac{-1/12 s + (-1/6)}{(s^2+4)} \right]$$

$$y(t) = L^{-1} \left[\frac{13}{4} \frac{1}{s-2} - \frac{1}{12} \frac{s}{s^2+4} - \frac{1}{6} \frac{1}{s^2+4} \right]$$

$$y(t) = L^{-1} \left[\frac{13}{12} \frac{1}{(s-2)} - \frac{1}{12} \frac{s}{s^2+4} - \frac{1}{12} \frac{2}{s^2+4} \right]$$

$$y(t) = \frac{1}{12} L^{-1} \left[\frac{13}{(s-2)} - \frac{s}{(s^2+4)} - \frac{2}{(s^2+4)} \right]$$

$$y(t) = \frac{1}{12} \left[13e^{2t} - \cos 2t - \sin 2t \right]$$

$$3) \frac{dy}{dt} - 4y = 8 \quad \text{at } t=0 \quad y=2$$

$$sy(s) - y(0) - 4y(s) = \frac{8}{s}$$

$$\text{at } t=0 \quad y(0) = 2$$

$$sy(s) - 2 - 4y(s) = \frac{8}{s}$$

$$y(s)(s-4) - 2 = \frac{8}{s}$$

$$y(s)(s-4) = \frac{8}{s} + 2$$

$$y(s)(s-4) = \frac{8 + 2s}{s}$$

$$y(s) = \frac{8 + 2s}{s(s-4)}$$

$$y(t) = L^{-1} \left[\frac{2s + 8}{s(s-4)} \right] = L^{-1} \left[\frac{A}{s} + \frac{B}{s-4} \right]$$

$$y(t) \quad 2s + 8 = A(s-4) + Bs$$

$$\text{at } s=0$$

$$2(0) + 8 = A(0-4) + 0$$

$$8 = -4A$$

$$A = -2$$

$$\text{at } s=4$$

$$2(4) + 8 = 4B + 0$$

$$16 = 4B$$

$$B = 4$$

$$y(t) = L^{-1} \left[\frac{-2}{s} + \frac{4}{s-4} \right]$$

$$y(t) = -2 + 4e^{4t}$$

$$y(t) = \underline{\underline{4e^{4t} - 2}}$$

15/ENG02/012

4) $\frac{d^2y}{dt^2} - 2\frac{dy}{dt} + 5y = e^{2t}$ at $t=0$ $y=2$ $y'=1$

$$s^2y(s) - sy(0) - y'(0) - 2[sy(s) - y(0)] + 5y(s) = \frac{1}{s-2}$$

at $t=0$ $y(0)=2$ $y'(0)=1$

$$s^2y(s) - s(2) - 1 - 2[sy(s) - 2] + 5y(s) = \frac{1}{s-2}$$

$$s^2y(s) - 2s - 1 - 2sy(s) + 4 + 5y(s) = \frac{1}{s-2}$$

$$y(s)[s^2 - 2s + 5] - 2s - 1 + 4 = \frac{1}{s-2}$$

$$y(s)[s^2 - 2s + 5] = \frac{1}{s-2} + 2s - 3$$

$$y(s)(s^2 - 2s + 5) = \frac{1 + 2s(s-2) - 3(s-2)}{s-2}$$

$$y(s)(s^2 - 2s + 5) = \frac{1 + 2s^2 - 4s - 3s + 6}{s-2}$$

$$y(s) = \frac{2s^2 - 7s + 7}{(s-2)(s^2 - 2s + 5)}$$

$$y(t) = L^{-1} \left[\frac{A}{s-2} + \frac{Bs+C}{s^2 - 2s + 5} \right]$$

$$2s^2 - 7s + 7 = A(s^2 - 2s + 5) + Bs + C(s-2)$$

at $s=2$

$$2(2)^2 - 7(2) + 7 = A(2^2 - 2(2) + 5)$$

$$8 - 14 + 7 = 5A$$

$$1 = 5A$$

$$A = \frac{1}{5}$$

$$2s^2 - 7s + 7 = As^2 - 2As + 5A + Bs^2 - 2Bs + Cs - 2C$$

$$1 - 8A - 2C = 7$$

$$5(\frac{1}{5}) - 2C = 7$$

$$-2C = 7 + 1$$

$$-2C = 8$$

$$C = -4 //$$

$$-2A - 2B + C = -7$$

$$-2\left(\frac{1}{5}\right) - 2B - 4 = -7$$

$$\frac{-2}{5} - 2B - 4 = -7$$

$$-2B = -7 + 4 + \frac{2}{5}$$

$$-2B = \frac{-35 + 20 + 2}{5}$$

$$-2B = \frac{-13}{5}$$

$$B = \frac{13}{10}$$

$$!- y(t) = L^{-1} \left[\frac{1}{5} \frac{1}{s-2} + \frac{\frac{13}{10}s + 4}{s^2 - 2s + 5} \right]$$

$$y(t) = L^{-1} \left[\frac{1}{5} \frac{1}{s-2} + \frac{13}{10} \frac{1}{s^2 - 2s + 5} - \frac{4}{s^2 - 2s + 5} \right]$$

$$\cancel{y(t)} = \cancel{\frac{1}{5} e^{2t}} + \cancel{\frac{13}{10} \sin 2t e^t}$$

$$y(t) = \frac{1}{5} e^{2t} + \frac{13}{10} \frac{\sin 2t e^t}{2} - \frac{4 e^t \sin 2t}{2}$$

$$y(t) = \frac{1}{5} e^{2t} + \frac{13}{20} e^t \sin 2t - 2 e^t \sin 2t$$

$$y(t) = \frac{1}{5} e^{2t} + 13 e^t \sin 2t - 40 e^t \sin 2t$$

$$5) \frac{d^2 y}{dt^2} - 6 \frac{dy}{dt} + 8y = e^{3t}$$

$$t=0, y=0, y'=2$$

$$s^2 y(s) - sy(0) - y'(0) - 6(sy(s) - y(0)) + 8y(s) = \frac{1}{s-3}$$

$$\text{at } t=0 \quad y(0)=0 \quad y'(0)=2$$

$$s^2 y(s) = 0 - 2 - 6sy(s) - 6(0) + 8y(s) = \frac{1}{s-3}$$

$$s^2 y(s) - 6sy(s) + 8y(s) = \frac{1}{s-3} + 2$$

$$y(s)(s^2 - 6s + 8) = \frac{1 + 2(s-3)}{s-3}$$

$$y(s) = \frac{1 + 2s - 6}{(s-3)(s^2 - 6s + 8)}$$

$$y(s) = \frac{2s - 5}{(s-3)(s-2)(s-4)}$$

$$y(t) = L^{-1} \left[\frac{2s - 5}{(s-3)(s-2)(s-4)} \right]$$

$$y(t) = L^{-1} \left[\frac{A}{s-3} + \frac{B}{s-2} + \frac{C}{s-4} \right]$$

$$2s - 5 = A(s-2)(s-4) + B(s-3)(s-4) + C(s-3)(s-2)$$

$$\text{at } s=2$$

$$4 - 5 = B(2-3)(2-4)$$

$$-1 = 2B$$

$$\therefore B = -\frac{1}{2}$$

$$\text{at } s=3$$

$$6 - 5 = A(3-2)(3-4)$$

$$1 = -A$$

$$A = -1$$

$$\text{at } s = 4$$

$$8 - 5 = (4 - 3)(4 - 2)$$

$$3 = 2c$$

$$c = \frac{3}{2}$$

$$1 - y(t) = L^{-1} \left[\frac{-1}{(s-3)} + \frac{-1/2}{(s-2)} + \frac{3/2}{(s-4)} \right]$$

$$y(t) = L^{-1} \left[\frac{-1}{(s-3)} - \frac{1}{2} \frac{1}{(s-2)} + \frac{3}{2} \frac{1}{(s-4)} \right]$$

$$y(t) = -e^{3t} - \frac{1}{2} e^{2t} + \frac{3}{2} e^{4t}$$

$$y(t) = -2e^{3t} - e^{2t} + 3e^{4t}$$

$$y(t) = \underline{\underline{3e^{4t} - 2e^{3t} - e^{2t}}}$$